
Footrest & Legrest Accessories
Heel Loops (1346)

Footplate
Type

Attaching
Hardware

Pair #
Heel Loop
Single #

Heel Loop
Pair #

Heel Loop with
Ankle Strap -

Right
Single #

Heel Loop with
Ankle Strap -

Left
Single #

Heel Loop with
Ankle Strap

Pair #

103593110359061035909-NLA1035908-NLA1035912-NLA1028412-NLA
Composite

(1651)
14" W

(16" Wide
Tapered)

10359311035918103592010359191035917-NLA1017621
Composite

(1651)
16" W

(18" Wide
Tapered)

103593110359301035933-NLA1035932-NLA1035917-NLA1017621
Composite

(1651)
18" W

(20" Wide
Tapered)

103590710359061035909-NLA1035908-NLA10359051025234-NLA
Standard
Aluminum

(1650)
14" Wide

10359071035918103592010359191035917-NLA1017621
Standard
Aluminum

(1650)
16-20" Wide

1086112-NLA1035918103592010359191035917-NLA1017621
Deluxe

Aluminum
(1450)

16-20" Wide

105524110359061035909-NLA1035908-NLA10359051025234-NLA
X-Large

Aluminum
(1350)

14" Wide

10552411035918103592010359191035917-NLA1017621
X-Large

Aluminum
(1350)

16-20" Wide



Footrest & Legrest Accessories
Heel Loop Hardware

Part Number Consists of:
(2) Screw, Phillips Pan Head

(1/4-20 x 2-1/4")
(2) Spacer

(1/4 x 11/32 x 1-3/4")
(2) Hex Nut w/ Nylon Cap (1/4-20)

(2) Flat Washer
(1/4 x 5/8 x 1/16")

1035931

(2) Screw, Phillips Pan Head (1/4-20 x 2-1/4"),
(2) Spacer (1/4 x 11/32 x 1-3/4"), and

(2) Locknut (1/4-20").
1055241

(2) Screw, Phillips Pan Head (1/4-20 x 2-1/2"),
(2) Spacer (1/4 x 11/32 x 1-3/4"), and

(2) Locknut (1/4-20").
1035907

(2) Screw, Phillips Pan Head (1/4-20 x 2-1/2"),
(2) Spacer (1/4 x 11/32 x 1-3/4"), and

(2) Locknut (1/4-20").
1086112-NLA

Toe Loops (1345)

Footplate
Type

Toe Loop
w/o Hardware

Single #
Toe Loop

w/o Hardware
Pair #

Attaching
Hardware

Part Number
Attaching 
Hardware

Consists of
(4) Screw, Phillips Pan

Head
(#10-32 x 7/8"),

(4) Washer
(1/4 x 3/4 x 3/32"),

and
(4) Locknut 

(#10-32).

1037089103708704572X025
1651,
1650,
1450,
1350,

Footplates



Footrest & Legrest Accessories
Miscellaneous Accessories

Part Number Description
Impact Guard (8")

(IMPACTG)
1026987

 
 See Note(s) D

Non-Removable Device (1820)1143050
"H" Heel Strap (9342)

14" Wide1032003
"H" Heel Strap (9342)

16-20" Wide1032002
Calf Strap

(1337)1035902
Footrest Support Panel (1348)

14-16" Wide
8881006725-NLA

 
 See Note(s) A, B

Footrest Support Panel (1348)
18" Wide

8881006726
 
 See Note(s) B, A

Footrest Support Panel (1348)
20" Wide

8881006727-NLA
 
 See Note(s) B, A

Legrest Support Panel (1348)
14-16" Wide

8881035816-NLA
 
 See Note(s) C, A

Legrest Support Panel (1348)
18" Wide

8881035817-NLA
 
 See Note(s) A, C

Legrest Support Panel (1348)
20" Wide

8881035818-NLA
 
 See Note(s) C, A

A - Specify upholstery color when ordering.  See page titled "Frame Finishes, Touch-Up Paints and Upholstery Colors." 
B - For PW93 footrest 
C - For P904A, PAS4A and PAL4A Legrest 
D - For 70 deg. Tapered Footrest. 

NOTE:

NOTE:  These items are not shown


